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OAMSA Hutet) 2 2,000,000& = 14l 2,000
ASYHIs A 2A22dY 85,693 67,768 17,925
101 21 21d| 18,153 15,328 2,825
04 JI2ZtH 22 XNEE 18,153 15,328 2,825
OZSsHEZe2 JI2H=2 22X o 2Y 16,503
ollza 45,0008 * 1% = 2302 10,350
oxsaY 45,0003 * 1Y x 46 2,070
SRS N 45,0008 =19 » 11L 495
oA2tel=&  8,380& * 1Y x 8Al2+ x 46! 3,084
ocNEHMMEE AIEE 2=
15,999,000& * 3.15% 504
OZsdHIear =8HH 282Y
55,000 » 3% x 10& 1,650
201 Bt A H| 22,540 22,440 100
01 At 22l ] 5,000 5,000 0
OLsYH 22 AR 22/ ] 5,000
ocEEZN& 2,000,000 = 14! 2,000
o J|Et2gH| 2,000,000& = 14 2,000
oAMNEEE F¢ 1,000,000& * 14 1,000
02 332494l 17,540 17,440 100
OZsYd 22 s332%H| 17,540
ocMI|IMAANTE 170,000& * 128 2,040
oEIAMNEREEZ 100,000& = 23] 200
olMIIR=2 500,000& = 12& 6,000
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NENEETY
HM: 2lisAX4E &€ &4
S 2320t SIEANH =S (&2 &)
2SN B () NEAY - BAS 0 AF o il HZS2
oMelxTAMES 50,000& * 12& 600
ocRolAHIANIES 250,000& = 12& 3,000
cOlHY & L Sialg 200,000& = 12& 2,400
ocZha+HE 300,000& * 14! 300
o A& &H| 7 X Hl 3,000,000& = 1Al 3,000
307 212t01 & 20,000 20,000 0
02 AI2tAAMAIEE =X 20,000 20,000 0
O2sta 2go=z)d XA
20,000,000& * 14! 20,000
401 Al HI YL 2 0HHI 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
O&2sHa =Jt0lgal D] 20,000,000& * 14 20,000
405 XtabF SHI 5,000 0 5,000
01 AL 2B F SHI 5,000 0 5,000
OR4&d0t0l13 ¢ 2,000,000& * 14 2,000
OdsdgIsta QX ¢ 100,000& * 307K 3,000
3 S MERSR 2K 56,926 64,828 NT,902
101 @121l 16,526 15,328 1,198
04 JI2ZtH 22 XNHEE =+ 16,526 15,328 1,198
O MEXNME 2 JIZtH2 2 A o182 16,526
oJlga2 45,0003 * 230 10,350
oFxsY 45,0003 * 46 2,070
oA Xt 45,0003 » 11 495
oAN2te 2R+Y 8,440& * BAlIZ2t » 46 3,106
ocNEHMMEE AIEE 2=
16,021,000 * 3.15% 505
201 Let2 Y| 20,400 18,500 1,900
01 Ab 2reltl 3,000 3,000 0
OX ME2 AFR22/H] 3,000
ocEEZZMN& 2,000,000& = 14l 2,000
o MBEHZIHE 1,000,000& = 14 1,000
02 352494l 17,400 15,500 1,900
OX N2 3329 17,400
olMIlE 500,000& = 12& 6,000
o 2olAHIANES 100,000& * 128 * 23 2,400
occtvii i & 100,000& * 128 = 404 4,800
ocEZha+HE 1,000,000& = 13 1,000
oMElxTAMES 100,000& * 128 1,200
o Al& &Hl |4l 2,000,000& * 14 2,000
307 212t01 & 20,000 20,000 0
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AENETEY
M 2= A8 @ 4
Sl 220 SO 2B (B9 ®R)
- _ — d =
SN P SAGEH) - HRAY - BYS 0] &k o4 e HlDE2
oStMEMI M3l 500,000& * 1& 500
ORL=4212 990
CNHBIBELDS0 HaslB
100,000& * 13/ 100
oS EMI M3 2 100,000& * 13l 100
ocZdAsIlg 290,000& = 13l 290
oolZoltEE g 200,000& * 12 200
ocdEsAddx2t 300,000& * 12 300
OA&ZEHl s Xl 5,000
OMESIEE NS0l M3
,000,000& = 13 1,000
oshMREMII M=+3l2 1,000,000& * 13 1,000
oZAsllga 1,000,000& = 12l 1,000
oolZolttEE g 1,000,000 = 13l 1,000
cdEsdds2t 1,000,000& = 12l 1,000
OCCTV W Z (2 Als, Ha8Iga)
200,000& = 128 = 204 4,800
401 Al HI K 201 I 15,000 15,000 0
01 A& HI 15,000 15,000 0
O&==2 & Jga ANdE=>
3,000,000& * 50 A& 15,000
23 =20f St/ &5 2Z 3| 5,800 6,100 A 300
202 04l 5,800 6,100 A 300
01 = LH 4 HI 5,800 6,100 A 300
O2=0F ot=ERNEs 223 H|
20,0008 = 2H =%145%] 5,800
aoHEE JIg3d =4 30,000 325,000 A 295,000
401 Al HI 22 OHYI 30,000 325,000 295,000
01 A& HI 30,000 325,000 A295,000
Osiz@olt&s JIg3&d Jl
30,000,000& = 14 30,000
AEEE 4,279,544 3,882,815 396,729
= 1,419,600
J| 206,136
< 668,915
Al 1,984,893
M 25 - 2= FH| 2,239,444 1,235,215 1,004,229
= 787,200
J| 206,136
< 326,785
Al 919,323
23 2 =8 A FH 28,086 27,373 713
101 1244 dl 28,086 27,373 713
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AT BBRBHSNR SN 2aiS
HH: 25T AERE
¢ 23 Es - B - FUl (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
04 JIZHHZ2XREES 28,086 27,373 713
OGSl &s MItE 2el AR 17,630
=Jl2g 49,500% * 18 * 230 11,385
oxFgsdg 49,500 * 1H = 46 2,277
cHXt+g 49,500 * 18 * 11 545
o Al 22l =& 9,300 = 8AIZ2+ * 46 3,423
OBEZ (&, 4) AE 223
17,628,900& = 3.15% 556
O=stM &3 &l 49,5003 * 2% = 100 9,900
28 HEs® 20t 29 43,186 37,373 5,813
101 @124l 18,186 17,373 813
04 D12t 22 HEE =+ 18,186 17,373 813
OLZEUESE 20t A2 17,630
=lles 49,500 * 198 * 230 11,385
oFFd 49,500& * 1H * 46¥ 2,277
oA+ 49,500& * 18 = 11 545
o A2 =G 9,300 * 8AI2+ * 46 3,423
OBEZ (& &) AILE 223
17,628,900& = 3.15% 556
201 €2l 10,000 0 10,000
03 AH2 S HI 10,000 0 10,000
Ollzs® 20t g8 Z218 29
10,000,000 * 14 10,000
301 LAz 15,000 0 15,000
09 AL HIE &S 15,000 0 15,000
OlEs® 20t 88 T2 2 S AtAH
gat 15,000,000& * 14 15,000
FE3M E= 2 wX2e 390,000 110,000 280,000
401 AIEHI L 2CHYI 365,000 110,000 255,000
01 A& HI 365,000 110,000 255,000
OXN&E=2stM E= & SX2c 150,000
cXB23M 2= 100,000,000& * 1Al 100,000
o EZ3M et E FHl 20,000,000 * 14 20,000
o2 MHwERR AL 04
30,000,000 * 14 30,000
OJI4E=RX EH & F4l
150,000,000 * 14 150,000
OZ0F Dt EHI(&CIAM S 1,650m )
50,000,000 * 14 50,000
OoggZa &4z & &L=z Fl
15,000,000 * 14 15,000
405 XtAtFE SHI 25,000 0 25,000
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223N =3 M 280z
25 AEwE
M B - B - HHl (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
01 XY 2 ZFH S| 25,000 0 25,000
OH=U & FolH = 25,000,000 = 14 25,000
NE23 2&E2el 14,000 39,000 A 25,000
201 LBt 1,000 1,000 0
01 At 22l 1,000 1,000 0
OZdEl 22X X 1,000,000& * 14 1,000
307 21201 A 13,000 13,000 0
02 It S AHE L 13,000 13,000 0
OZEA B2 2e) 13,000,000& * 14l 13,000
=8 =0 & Al2el 36,000 27,000 9,000
= 25,200
< 5,400
Al 5,400
401 Al HI & 28I 36,000 27,000 9,000
= 25,200
< 5,400
Al 5,400
01 A& HI 36,000 27,000 9,000
OAlE &Al2el 36,000,000 = 14 36,000
= 25,200
< 5,400
Al 5,400
HduWE E=IH0IF D] 30,000 30,000 0
= 21,000
< 4,500
Al 4,500
307 21201 A 30,000 30,000 0
= 21,000
< 4,500
Al 4,500
02 LAFAAFEX 30,000 30,000 0
OdsSIH=E =013l 30,000,000& * 14l 30,000
= 21,000
< 4,500
Al 4,500
HdSAZEE=FHI 200,000 140,000 60,000
= 100,000
< 50,000
Al 50,000
402 2I2H X201 M 200,000 140,000 60,000
= 100,000
< 50,000
Al 50,000
01 It AL E X 200,000 140,000 60,000
O8HA B201= 200,000,000& * 14 200,000
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AT BBRBHSNR SN 2a0ED
HH: 231 AHPE
. 23 5 - 24 - EH| (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES %Ei HR=2
= 100,000
& 50,000
Al 50,000
LEXI2IM SHAIAE 2= 160,000 160,000
J| 80,000
= 24,000
Al 56,000
201 B9 300 300
J| 150
o= 45
Al 105
01 AP 22| H| 300 300
OXN2/AE =& 300,000& = 13| 300
J| 150
=} 45
Al 105
401 Al HI L £ 0HHI 159,700 159,700
J| 79,850
= 23,955
Al 55,895
01 Al& H| 159,100 159, 100
Odl2d TS X AAE =
159, 100,000& * 14! 159,100
J| 79,550
= 23,865
Al 55,685
03 A2 HH]| 600 600
OH2d MUSXAIAE = AIE201H]
600,000 = 14! 600
J| 300
o 90
Al 210
LEXZSSHZAIKHEXI 175,272 N43,224
J| 87,636
=} 26,292
Al 61,344
101 21 214| 175,272 N43,224
J| 87,636
& 26,292
Al 61,344
04 JI2tHI22XNSEES 175,272 NA43,224
OZER2SX2 M2l 2ZA (JI2HH 22 XH) BH X
175,272,000 * 14! 175,272
J| 87,636
o= 26,292
Al 61,344
2 =2XE25HM BHAIAE SX 22 55,000 A5,000
J| 38,500
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9,030
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40,000,000& =

1/\I

=

Il

H

Al
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Il

H

Al

3,000

3,000

2,100
270
630

40,000

40,000
28,000
3,600
8,400

3,000

40,000

401 AIEHIZ 2 HHI

mn <

Al

12,000
8,400
1,080
2,520

17,000

A5,000

01 A& HI
Céll

09
1=
0x
Ao

n

S ANEE=4l

12,000,000& * 14

=

12,000

12,000
8,400
1,080
2,520

17,000

A5,000

= MW

18,000
10,000
2,143
5,857

18,000

307 21201 A

= Hn

18,000
10,000
2,143
5,857

18,000

o423 E&M N&

14,286,000& = 14

= N H

232 HEH X (AMHIFI}HE)

3,714,000& = 14

18,000
14,286

10,000
2,143
2,143

3,714

18,000

= HnH

210,000
105,000
52,500
52,500

444,000

A 234,000

0IZHR = 0| |

210,000

444,000

A 234,000
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AT BBRBHSNR SN 2a0ED
HH: 231 AHPE
o2l 23 Bs - B - HHl CEE-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 105,000
= 52,500
Al 52,500
01 It H2 AL E X 210,000 444,000 A 234,000
OY2AL ETAIAE 25
210,000,000& = 14l 210,000
= 105,000
< 52,500
Al 52,500
=2 23 .2+ UMY 2E 34| 24,900 20,900 4,000
201 ¢er24] 20,000 16,000 4,000
01 At 2t 2l 6,000 3,000 3,000
O23t M HHIAHY 24l 3,000,0008 * 14! 3,000
OXNZEZsM 2= M= 3,000,000& * 14 3,000
02 =224l 14,000 13,000 1,000
OXE=3aN 2323 & HA
14,000,000 * 14l 14,000
202 Oddl 4,900 4,900 0
01 = LH 4 Hi 4,900 4,900 0
O=stM 25,2 ,&8H & 0l
20,000& = 5% = 493 4,900
A FHEH HEAS 500,000 0 500,000
= 350,000
< 75,000
Al 75,000
201 Let249] 900 0 900
= 630
< 135
Al 135
01 At 22l 900 0 900
ONZ/A =& 300,000& = 13 = 3H 900
= 630
< 135
Al 135
401 A& HIZ 201 8] 499,100 0 499,100
= 349,370
< 74,865
Al 74,865
01 A& HI 484,300 0 484,300
Odn&E SH&EH H&  484,300,000& = 14 484,300
= 339,010
< 72,645
Al 72,645
02 Zeltl 12,800 0 12,800
O&WE FAHEEH SA 2eldl
12,800,000 * 14 12,800
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A= pR2EN= A ESttiEn
dM: B3 FEEE
o2l 23 Bs - B - HHl 9 )
- _ — d =
AR SA Y- SAEA) - HRAY - BES e 2
= 8,960
< 1,920
Al 1,920
03 Al 2 THHI 2,000 2,000
O&LE FAHEEH SA AIERUH
2,000,000 * 14l 2,000
= 1,400
< 300
Al 300
ZESNUHLEH LAY 100,000 100,000
= 50,000
< 25,000
Al 25,000
201 LB-2E| 300 300
= 150
= 75
Al 75
01 At 2t 2l 300 300
ON/d =< 300,000& = 13 = 1H 300
=2 150
= 75
Al 75
401 AIEHI L 20 99,700 99,700
= 49,850
< 24,925
Al 24,925
01 A& HI 99,100 99,100
Ogwthdd &0l ZHMHMA & ESHel
99,100,000 = 14l 99,100
= 49,550
< 24,775
Al 24,775
03 Al 2 0HHI 600 600
OguiHdd EESAY AIER0UHI
600,000& * 14l 600
= 300
< 150
Al 150
=8 PXROMAC RLIHE 30,000 30,000
= 21,000
< 4,500
Al 4,500
401 AIEHIZL 20 30,000 30,000
= 21,000
< 4,500
Al 4,500
01 A& HI 30,000 30,000
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A= 22 =EX= FM 230z
HH: 231 AHPE
ol 28T 25 B4 Bl SR
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlDE2
OLLEE FXZUFAE 2UHE
30,000,000& * 14l 30,000
= 21,000
< 4,500
Al 4,500
EAA 235H I 150,000 0 150,000
= 105,000
< 22,500
Al 22,500
402 RI2HX=01 M 150,000 0 150,000
= 105,000
< 22,500
Al 22,500
01 It A=A 2 150,000 0 150,000
OZHA 238 FEHAS HX & FH|
150,000,000 * 14l 150,000
= 105,000
= 22,500
Al 22,500
EXNE=2M BLASIA 75,000 0 75,000
< 30,000
Al 45,000
401 Al HIZK 201 I 75,000 0 75,000
< 30,000
Al 45,000
01 A& HI 75,000 0 75,000
OZAA B =1
37,500,000 * 14l 37,500
< 15,000
Al 22,500
oaaEIs & z29
37,500,000 * 14l 37,500
< 15,000
Al 22,500
SE2stE= 2,040,100 2,647,600 A 607,500
= 632,400
< 342,130
Al ,065,570
SEZ3RL B2 200,000 200,000 0
401 AIEHI L 2CHEI 200,000 200,000 0
01 A& Hl 200,000 200,000 0
OERSHL 2 200,000
cEERIR
100,000,000& * 14l 100,000
ol o
100,000,000& * 14l 100,000
FEEM ds 23 X 197,000 85,000 112,000
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97,200
48,600
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H
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W
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H
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9,500
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H

Al

H

Al

307 21201 &

Ki
iy
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R0
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ol

5,000,000& * 14!
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40,000,000& * 14!

= A&
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H
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o

= Xl

4l0
K
ol
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307 glztol &
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A= pR2EN= A ESttiEn
HH: 231 AHPE
ool HESS Y EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 9,500
Al 9,500
ZEE 4 o stote 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
OZJ& 4 deol sotg 10,000,000& = 14l 10,000
LSHHMEES X2 100,000 60,000 40,000
< 50,000
Al 50,000
307 glz2tol & 100,000 60,000 40,000
< 50,000
Al 50,000
03 BIAHMNHE2IHIEE 100,000 0 100,000
OLELLNEES XA 100,000,000 * 14 100,000
< 50,000
Al 50,000
LENFLUEENS 30,000 20,000 10,000
< 15,000
Al 15,000
307 21201 A 30,000 20,000 10,000
< 15,000
Al 15,000
04 QIZFHALAIH B = 30,000 20,000 10,000
OLSANEFUEHES 30,000,000& = 14l 30,000
= 15,000
Al 15,000
dEsA=2 AE 1,026,000 1,624,000 598,000
= 513,000
< 153,900
Al 359,100
401 A& HIZ 201 bI 1,026,000 1,624,000 598,000
= 513,000
< 153,900
Al 359,100
01 A& HI 1,016,000 1,620,000 A 604,000
OLEasdd=2 A48  1,016,000,000& * 1A 1,016,000
= 508,000
< 152,400
Al 355,600
03 Al S HHI 10,000 4,000 6,000
OAIZ 2 HHI 10,000,000& * 14 10,000
= 5,000
< 1,500
Al 3,500
FEEM 3N 2435 203,500 150,000 53,500
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CEA -G (BH) - NEAY - BAS ofl &k o ﬁlgi 2
= 87,400
== 36,630
Al 85,470
307 QI2t0| & 203,500 150,000 53,500
- 81,400
== 36,630
Al 85,470
02 QIZ2FA AAIE E X 203,500 150,000 53,500
OLE=2 M2 8435 90,000,000& = 14l 90,000
= 36,000
= 16,200
Al 37,800
OZELQH D8 243
100,000,000& * 14 100,000
= 40,000
& 18,000
Al 42,000
Ostd=sMHI dxns2 2435
7,500,000 * 14 7,500
= 3,000
= 1,350
Al 3,150
OUESNHHHE DS M2 Sa35
6,000,000& * 14 6,000
= 2,400
= 1,080
Al 2,520
MMESIT B2ALE 95,000 30,000 65,000
- 38,000
o= 28,500
Al 28,500
307 212t0| & 95,000 30,000 65,000
= 38,000
o= 28,500
Al 28,500
02 AABAMANEEX 95,000 30,000 65,000
OLESA-LENAM Mas 22 SII0
35,000,000 * 14 35,000
= 14,000
== 10,500
Al 10,500
OSAAM-XAU &0l CH
60,000,000 * 14 60,000
= 24,000
o= 18,000
Al 18,000
OXNELESSHE 48 52 30,000 0 30,000
307 2I2t0| & 30,000 0 30,000
02 AABMANEEX 30,000 0 30,000
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201 ¢er24| 10,048 11,280 A1,232
01 At 22/l 9,520 10,320 A 800
OAST=X HYAHE 2
70,000& = 8% = 2% 1,120
Oll=23t =4atArY 238l
4,400,000& = 14 4,400
O=EXNAEEE M 4,000,000& * 14! 4,000
02 2324l 528 960 ANA432
O2a2=k 129 S4H dste3
22,000& = 200 = 12& 528
202 044l 7,200 3,000 4,200
01 = LH o4 1l 7,200 3,000 4,200
OSXNEAYR =&
20,000& = 3H = 603l 3,600
OslY=XYR FEAHI
20,000& = 3H = 603 3,600
AMESAHES 243t 8,000 272,690 A 264,690
M FIIDIE 28 XIE 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
11T M SRASEEX 8,000 8,000 0
OArg el EI1DI1E52S X AY
8,000,000& * 14 8,000
sNAE 29 XN& 511,260 911,060 399,800
< 14,952
Al 496,308
AMEISXAIE SAX 2X+2 X 68,760 318,960 A250,200
< 13,752
Al 55,008
307 21201 A 68,760 0 68,760
= 13,752




M ox
40 5 4

- — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Al 55,008
10 ALSISXAIEEE 22X 68,760 0 68,760
O ASIEXAE BN XY S (s
ANEE) 68,760,000& = 14l 68,760
=) 13,752
Al 55,008
Hel2d MOAE X3 6,000 12,600 A 6,600
< 1,200
Al 4,800
307 glz2tol & 6,000 12,600 A 6,600
S 1,200
Al 4,800
10 AL SXAIEEE2EH EX 6,000 0 6,000
O Med AAd 29 X
6,000,000& * 14 6,000
< 1,200
Al 4,800
EA=SXNZ0F ASIERRA S4/H 80,500 80,500 0
301 et d=s 80,500 80,500 0
0B MBI ERRIBH= 80,500 80,500 0
OMEIEXAE ASI=ER22A SAH|
7,000& = 2302 = 509 80,500
SEAMsEN2 28 N& 340,000 340,000 0
307 2201 A 340,000 340,000 0
10 AL SXAIEEE2EHEX 340,000 0 340,000
OB =X2 2 X
340,000,000 * 14 340,000
AMEEXAE 23 XA 16,000 16,000 0
301 et A3 16,000 16,000 0
01 AR 2Z A 53 16,000 16,000 0
OA2IEXAE 28 XE
16,000,000 = 14l 16,000
HE=EX &3 24 911,280 792,630 118,650
< 281,130
Al 630,150
NEAs=2XEAM 29 76,000 116,000 A 40,000
< 6,000
Al 70,000
307 glz2+ol & 76,000 116,000 240,000
< 6,000
Al 70,000
10 AL SXAIEEE2EHEX 76,000 0 76,000
OXS At =X E2AM &43t
30,000,000 = 14l 30,000
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AR BRI 2N FUSTXE
Za: NYAE =X0le RS
chelr HE=X Y E4 (B9 ®R)
= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
< 6,000
Al 24,000
OXGAMESXEAM &&3H(AIEIFIH)
46,000,000& = 14! 46,000
CtAtd JtE E8X& 445,050 482,700 A 37,650
< 89,010
Al 356,040
301 et a3 445,050 482,700 A 37,650
< 89,010
Al 356,040
01 Ml2ZE 06z 445,050 482,700 A 37,650
OCXHIIE tHetysts XI&
91,000,000& * 14 91,000
< 18,200
Al 72,800
OUXEIE nuwstx2 XA
354,050,000& * 14 354,050
< 70,810
Al 283,240
M3l K& 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
11 AL S XAEE = 5,000 5,000 0
OAMII=XUE #HAH XI&  5,000,000& * 14 5,000
Mal=XEQS 28 N& 65,000 45,000 20,000
< 11,000
Al 54,000
307 glz2tol & 65,000 45,000 20,000
= 11,000
Al 54,000
10 ALSISXAIEEE 22X 65,000 0 65,000
OAIEXIEgds 29 X
55,000,000 * 14l 55,000
< 11,000
Al 44,000
OMSI=EXIES 2F X2 (Al FIt)
10,000,000& * 14l 10,000
& JHEH XE ALY 10,000 8,000 2,000
307 glz2tol & 10,000 8,000 2,000
10 AL SXAIEEE2EH EX 10,000 0 10,000
O&4h - FH HAAAN 229H XA
10,000,000& * 14 10,000
MOEH S A 22828 X2 156,000 0 156,000
< 156,000
301 L2 Az 156,000 0 156,000
< 156,000
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Az pEes=Ex= SN FALTXA D
M XSAE X0 25
chelr HE=X Y E4 (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
01 Al E & A 452 156,000 0 156,000
O NHSSEA 2StMEH X
100,000& = 130Y x 128 156,000
& 156,000
=2l 29 K& 50,000 40,000 10,000
307 2Iz2t0| & 50,000 40,000 10,000
10 M SXAEEHESIGHEX 50,000 0 50,000
OJl=xcdg 29 XI& 50,000,000& = 14! 50,000
A 2XNAE B3 33,600 33,600 0
& 6,720
Al 26,880
201 LBt Y| 33,600 33,600 0
& 6,720
Al 26,880
01 AP 22| d| 33,600 33,600 0
O AM3EX VS B3 33,600,000& * 14! 33,600
o=t 6,720
Al 26,880
SSH0|E 0 2HHGAIE nasdl N 2,880 2,880 0
= 1,080
Al 1,800
301 et A= 2,880 2,880 0
& 1,080
Al 1,800
01 M3 EXEE 2562 2,880 2,880 0
OS8O X0 2HBG HS X
320,000 = 9H 2,880
o= 1,080
Al 1,800
A& 2EXN#HE FA 6,600 4,600 2,000
201 et 6,600 4,600 2,000
01 AP 2t 2] d| 5,600 4,600 1,000
Osds NEZ2ZU X AI22
3,600,000 = 14! 3,600
OEXXNE HAHIA EE=S HZE
1,000,000& * 14! 1,000
OMols &N A2l ARE 2
1,000,000& * 14! 1,000
02 232 H4| 1,000 0 1,000
OFUE MAHP2SSXAIAE AIES
1,000,000& * 14! 1,000
A 22X SEHZB2F A& A 15,000 33,000 A 18,000
201 2Et24A Y| 15,000 18,000 A 3,000
01 AP 22| d| 10,000 8,000 2,000
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A= 22 =EX= = PPN L=}
Za: NYAE =X0le RS
chelr HE=X Y E4 (B9 ®R)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
< 150
Al 350
301 et 8= 500 0 500
< 150
Al 350
01 MEI2EZE+05l= 500 0 500
O=sstolgistd wiidl X &
500,000& = 19 500
< 150
Al 350
S0 HULSUESHHES HSAR 9,000 0 9,000
< 2,700
Al 6,300
301 et d = 9,000 0 9,000
< 2,700
Al 6,300
01 MEIEBEZE+06l= 9,000 0 9,000
02801230 HALBULENAS HSA
1,000,000& * 9% 9,000
= 2,700
Al 6,300
IRAZMSAY 483X (JI2AEUs oS 5,000 0 5,000
H)
< 1,000
Al 4,000
307 21201 A 5,000 0 5,000
< 1,000
Al 4,000
11T M3 SRAISEX 5,000 0 5,000
OJIRASUs 2dI0I=H  5,000,0008 » 14! 5,000
< 1,000
Al 4,000
L=o B 2 X 1,127,000 899, 746 227,254
2 508,500
< 219,000
Al 399,500
C==sTAE 22 N 732,000 694,746 37,254
2 493,500
< 211,500
Al 27,000
307 21201 A 732,000 694,746 37,254
= 493,500
< 211,500
Al 27,000
10 AL SXAIEEE2EHEX 732,000 0 732,000
OE%0E SNXNA(NESYNA)
694,500,000& * 14 694,500
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Az pEes=Ex= SN FALTXA D
Za: NYAE =X0le 25
Sl ol 25 Y XY EERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
= 486,150
= 208,350
Ok=0s EXXN(HEZZ2)HSH)
10,500,000& = 14! 10,500
= 7,350
& 3,150
OZ¢cl X2 A 1 24d]| (AlHIZ=D})
27,000,000 * 14! 27,000
L=0 EIA& Js2d 290,000 100,000 190,000
= 15,000
= 7,500
Al 267,500
401 AlEHIZ 2 0HY| 210,000 0 210,000
01 Al&H| 210,000 0 210,000
OAMEEXSY HolAS EX KLY (AIHIFIH)
140,000,000& = 14! 140,000
ONBSTR U2 SHTF(AYIEIL)
70,000,000& = 14l 70,000
402 BI2H X201 M 80,000 100,000 A 20,000
= 15,000
o 7,500
Al 57,500
01 QIZEXIE2AIE 2 X 80,000 100,000 A 20,000
OADIAHXDIIS HH 7Y 30,000,000& * 14 30,000
= 15,000
&< 7,500
Al 7,500
OANEEXE ASEH (P2 (AIHIF=IH)
50,000,000& 50,000
=0 85 95,000 95,000 0
307 giztol A 95,000 95,000 0
10 MM SAANEEHESIGHEX 95,000 0 95,000
OkL=0 ANd2Y 95,000,000& * 14! 95,000
HeA X LAIFRS 10,000 10,000 0
301 YEtE A= 10,000 10,000 0
01 Al B & X 262 10,000 10,000 0
Ol X HMH ¥ AHEWH]
10,000,000 = 14! 10,000
ool EX =& 17,686,798 16,357,071 1,329,727
= 9,726,858
&< 1,141,945
Al 6,817,995
ool 23 - Hsgs N 45,000 42,500 2,500
ZHOH Ol ALK& 45,000 42,500 2,500
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raox nx

2: A= SN FUSXXED
ool =X =A
9 MOHOl 28 MRES X

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
307 glz2tol & 45,000 42,500 2,500
11T M SRASEEX 45,000 42,500 2,500
OFZOML =S AKX 45,000,000& = 14! 45,000
FOHA=EXAE 29 X& 6,620,420 5,858,610 761,810
= 2,869,800
< 331,736
Al 3,418,884
Zoper=Xa 24 880,000 1,088,448 A 208,448
101 144 Hl 650,000 660,460 A 10,460
04 JIZHHZ2REE S 650,000 660,460 A 10,460
OFMe =X 29 1Al
650,000,000& * 14 650,000
201 Ler24E] 162,000 330,488 A 168,488
01 At 22l 122,000 216,080 A 94,080
OFMe EX2 AN (Z=2H2E2)
122,000,000 * 14 122,000
02 =224l 40,000 95,908 A 55,908
OFe =Xz 2SN (HMAM2L32)
40,000,000& = 14! 40,000
202 O4dl 3,000 6,000 A 3,000
01 = LH 4 Hi 3,000 6,000 A 3,000
OZM=EI2 28 X
20,000& = 3H = 503 3,000
206 M= Hl 35,000 70,500 A 35,500
01 M= 4l 35,000 70,500 A 35,500
OFZOME =X2 FUHaE2E XH
35,000,000& * 14 35,000
401 Al HI K 201 I 30,000 19,000 11,000
01 A& Bl 30,000 19,000 11,000
OFZOME =X2 JsEZAY
30,000,000& * 14 30,000
Zoe SXAE g 7Y 70,000 100,000 230,000
402 212t X201 & 70,000 100,000 230,000
01 22t t= AP E XL 70,000 100,000 /30,000
OFZOMe EXAE g 2
70,000,000& = 14! 70,000
Zoel F2AESAE 2% 135,000 240,000 A 105,000
307 21201 A 135,000 240,000 A 105,000
10 ALSISXAIEEE2GHEX 135,000 0 135,000
O =2AESAE 29
135,000,000 * 14 135,000
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AR BT2HENR SN FUSTXRD
Mo mojol =X =A
thel: ZOH=EIAE 28 X (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
ZOHQ SIIAFAE 28 X2 157,500 291,600 A 134,100
307 gl2tol & 157,500 291,600 A 134,100
10 AL SXNAIEEE2EH EX 157,500 0 157,500
OFOe SHIANFAE 294
157,500,000 * 14 157,500
SSHEINE 2F 240,000 240,000 0
307 21201 A 240,000 240,000 0
10 M2 SXNANEHE2IHEX 240,000 0 240,000
OZsdaEIHd 29 XNg
240,000,000 * 14 240,000
ANLEC MRSHH 22 279,560 252,000 27,560
307 212t A 279,560 252,000 27,560
10 ALSISEXAIEEE2EHEX 279,560 0 279,560
ON2AZNL ARSHEH 29
279,560,000& * 14 279,560
F2AEMe =ssHdH 249 182,180 176,871 5,309
307 glz2+ol & 182,180 176,871 5,309
10 ALSISXAIEEE2EH EX 182,180 0 182,180
OBBAUZM 3tSAMEH 23
182,180,000& = 1Al 182,180
ZOHQ MEAE 2 K& 3,764,000 2,800,000 964,000
= 2,634,800
< 225,840
Al 903,360
307 glz2+ol & 3,764,000 2,800,000 964,000
= 2,634,800
< 225,840
Al 903,360
10 ALSISXAIEEE 22X 3,764,000 0 3,764,000
oo MEAE 29
3,764,000,000& = 1Al 3,764,000
= 2,634,800
< 225,840
Al 903,360
ZOHQ =0 XA 470,000 432,321 37,679
= 235,000
< 47,000
Al 188,000
101 @144 Hl 470,000 432,321 37,679
= 235,000
< 47,000
Al 188,000
04 JI1ZtHNZ22HEE+ 470,000 432,321 37,679
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222522 SN FALTXA D
Zojol =21 =&
O =EXAE 29 XA (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
OZOQ HHEZR0l X
470,000,000& * 14! 470,000
= 235,000
< 47,000
Al 188,000
Zofol cIAsSAte 28 K& 66,200 43,800 22,400
< 11,240
Al 54,960
307 gl2tol & 66,200 43,800 22,400
< 11,240
Al 54,960
10 AL SXAIEEE2EHEX 66,200 0 66,200
OZOQ IFSAIY 2 XE
56,200,000& * 14l 56,200
< 11,240
Al 44,960
OFoe edsSAa 29 XI& (ALl =ItH)
10,000,000& * 14l 10,000
MEAIL 2elel X 57,600 57,600 0
< 11,520
Al 46,080
307 gl2tol & 57,600 57,600 0
< 11,520
Al 46,080
10 AL SXNAIEEE2EHEX 57,600 0 57,600
OZOHQ MEAL ol ol AHl XI&
57,600,000& * 14 57,600
< 11,520
Al 46,080
ZOHASXAIE X3AS Z 7,200 2,000 5,200
202 04l 7,200 2,000 5,200
01 =LH YI 7,200 2,000 5,200
OFMHA=XNSR =&AL
20,0003 = 6Y = 603l 7,200
oLt =225 29 130,500 126,770 3,730
101 @14l 120,500 109, 150 11,350
04 JI2ZtHZ22EE = 120,500 109, 150 11,350
OOtLE=2AHESAE 2R
120,500,000 * 14! 120,500
201 et 9,500 16,720 AT,220
01 At 221l 5,000 9,340 A 4,340
OOt Ex=2UESAE 2N (2202
) 5,000,000& * 14! 5,000
02 =224l 4,500 7,380 A 2,880
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AR A= 2 SA EO=X XD
Mo mojol =X =A
¢ HoHeIsIAE 22 X (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
O0tUs=2ESAE 2L (HERX )
4,500,000& 14! 4,500
202 O4dl 500 900 A 400
01 = LH 4 Hi 500 900 A 400
Ootlte=2A2SAE 2L XA Wl
20,000& = 1" = 253 500
OIS RNAE SAL =X=E XA 180,680 0 180,680
< 36,136
Al 144,544
307 gl2tol & 180,680 0 180,680
< 36,136
Al 144,544
10 ALl SXNAIEEE2EH EX 180,680 0 180,680
O ZHA=XAE SMAL SX=E X
180,680,000& * 14 180,680
< 36,136
Al 144,544
Zopel MEory XA 6,047,739 5,745,280 302,459
= 4,064,368
< 530,079
Al 1,453,292
e SE2S ME(HY SR HEHA) 43,000 42,754 246
101 @124l 23,000 21,894 1,106
04 JI2ZtHZ22HEE = 23,000 21,894 1,106
OHe REHEHA 2EXA
23,000,000 = 14l 23,000
201 Let24E] 20,000 20,860 A 860
02 2324l 20,000 20,860 A 860
OZML RPEHEHA 2N (RRLUSR
l8l) 20,000,000 = 14l 20,000
2Mdo e ZEXE 28 N 30,000 54,000 A 24,000
307 21201 A 30,000 54,000 224,000
10 ALSISEXAIEEE2EHEX 30,000 0 30,000
OCEHMAe=ZEXRE 28 XA
30,000,000 = 14 30,000
SHE ZOHQI=E1 JHEZALEY 15,200 15,200 0
= 7,600
= 2,280
Al 5,320
301 et a = 15,200 15,200 0
= 7,600
< 2,280
Al 5,320
01 MEIBEZE 06z 15,200 15,200 0




AT BFRIASXD SN EOISTXED
Mo mojol =X =A
ol mOHOI MEOIE X CER-ED
= — — L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
Os0E ZOH=C WAL
15,200,000 * 14l 15,200
= 7,600
< 2,280
Al 5,320
Zosg X3(I1=x) 780,213 617,066 163, 147
= 546,150
< 70,219
Al 163,844
301 et d = 780,213 617,066 163, 147
= 546,150
< 70,219
Al 163,844
01 MI2EZE 06z 780,213 617,066 163, 147
OFM=ZX= (=) 780,213,000& * 14 780,213
= 546,150
= 70,219
Al 163,844
Zo=g(ta? S) 610,663 629,924 219,261
= 427,463
< 54,960
Al 128,240
301 et a3z 610,663 629,924 219,261
= 427,463
< 54,960
Al 128,240
01 MEIBEE 263 610,663 629,924 219,261
QXS === (HaAS)
610,663,000& * 14 610,663
= 427,463
< 54,960
Al 128,240
ZOoHel XA syl 7,024 9,532 A2,508
= 5,619
< 281
Al 1,124
301 et a s 7,024 9,532 A 2,508
= 5,619
< 281
Al 1,124
01 MEIBEE 53 7,024 9,532 A 2,508
OHe XM stdl X& 7,024,000& = 14 7,024
= 5,619
< 281
Al 1,124
M2 2= K& 20,280 17,616 2,664
< 4,056
Al 16,224
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oo =X &
ZoHol MEOHY X CER-ED
- _ — d =
CRN I S(EH) - MRAY - BYS 0] &k o4 e HlDE2
201 ¢er24| 20,280 17,616 2,664
< 4,056
Al 16,224
01 At 22l 20,280 17,616 2,664
OZMAMEZ 75 K& 20,280,000 * 14 20,280
< 4,056
Al 16,224
Zoel =4 A 30,000 33,123 A 3,123
< 3,051
Al 26,949
206 M= Hl 30,000 33,123 N 3,123
< 3,051
Al 26,949
01 MHZ 4l 30,000 33,123 A3,123
OHMe R2as4 XA 15,246,000& * 14 15,246
< 3,051
Al 12,195

Ozfel R34l AA(AHFI)

14,754,000& = 14 14,754
ZOHQI=E BHoAL X 20,000 20,000 0
301 LEE A 20,000 20,000 0
01 Al 28X =0l 20,000 20,000 0
OZO=& HAAL K&
20,000,000& = 14 20,000
oz X 4,382,113 4,196,965 185, 148
= 3,067,480
= 394,390
Al 920,243
301 LEE NS 4,382,113 4,196,965 185, 148
= 3,067,480
= 394,390
Al 920,243
01 MBI 2 H+0l3 4,382,113 4,196,965 185, 148
OFMH= N& 4,382,113,000& * 14 4,382,113
= 3,067,480
S 394,390
Al 920,243
ol BoAAE NEHE 23 40,000 35,000 5,000
307 21201 & 40,000 35,000 5,000
10 A SAAIEHIES2SHIEX 40,000 0 40,000
O ZOHEHAAIL XNJAMEH 2HH X2
40,000,000& * 14! 40,000
ZOHeOIE XJAHH 29 50,000 50,000 0
307 glz2tol ™ 50,000 50,000 0
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2ZR3=X= PN HEEIY
CE R EEDE-F
HelolE82dXd CEE-ED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
cEFAY WEIE MH
1,500,000& * 14! 1,500
301 g2 4= 7,000 7,000 0
09 SALAHIEA S 7,000 7,000 0
OO0 T DAY o4 3,000,000 * 14! 3,000
Ol A& FIt
1,500,000& * 14! 1,500
OZ3Aeoly storstal &It
1,500,000& * 14! 1,500
O&= E=selis &It 1,000,000& = 14! 1,000
307 21201 A 11,250 11,250 0
T EEP RS 11,250 11,250 0
OEsn&& Motk X 5,400,000 Al 5,400
O0eold stz XA
4,050,00080 * 14! 4,050
ES0ls 2 U= 1,800,000 = 14 1,800
ESUAM MM & BExEF A 94,800 90,000 4,800
307 21201 A 94,800 90,000 4,800
10 ALSISEXAIEEE2GHEX 94,800 0 94,800
OESuA EJI2s52Y 94,800
S3HO0I4 2R WA
30,000& = 1059 » 12&8 37,800
o5& 0l& 22 WA 50,0008 * 959 x 123 57,000
HEOIZE2EXNJAAY 283 4,800 2,000 2,800
202 o4dl 4,800 2,000 2,800
01 = LH o4 1l 4,800 2,000 2,800
OESXd YR=2A Kol
20,000& = 4% = 603l 4,800
OOt E el old MExzg Z20d X 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
10 AL SXAIEEHE2EH EX 5,000 0 5,000
OFMHOIEE HEold MeExlsg =228 X2
5,000,000& = 14! 5,000
S20e0d 2N 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
10 SIS XA SEE S 2 X 20,000 0 20,000
Osgoegod 28 X& 20,000,000 * 14 20,000
SO0ISEXNJHEYH 2 5,000 8,000 A 3,000
307 glz2tol & 5,000 0 5,000
02 It HAMHEE 5,000 0 5,000
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K= SN H4IED

=] g
2= EEEPNEE
HelolE82dXd CEE-ED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
OFOIEEANALEH SZHHL
5,000,000& * 14! 5,000
=38 Helold HE* 10,000 0 10,000
401 Al& I 28I 10,000 0 10,000
01 A& tI 10,000 0 10,000
O23g0eold HE=> 10,000,000& * 14 10,000
dItelEse oy X 71,500 48,500 23,000
307 glz2tol & 71,500 48,500 23,000
10 AL SXAIEEE 2 H EX 71,500 0 71,500
OEIIENR0IE W X3 71,500
=39210lct Helol& 400,000 * 8501 2 34,000
24001014 &l ol& 500,000 * 7504 & 37,500
Helold s&J Azl 72,000 83,700 A 11,700
< 14,400
Al 57,600
307 glz2+ol & 72,000 83,700 A 11,700
< 14,400
Al 57,600
10 ALSISXAIEEE2EHEX 72,000 0 72,000
Oogold s&Z0 HEHEZH|
72,000,000& 14! 72,000
< 14,400
Al 57,600
XA 0IE w7l 36,019 36,019 0
< 7,204
Al 28,815
307 glz2tol & 36,019 36,019 0
< 7,204
Al 28,815
10 ALSISEXAIEEE2EHEX 36,019 0 36,019
Oeold WM 2H X
36,019,000 * 14l 36,019
< 7,204
Al 28,815
QIZIHE Ol 2SS AL ML 690,000 801,600 A 111,600
< 138,000
Al 552,000
307 gl & 690,000 801,600 A 111,600
S 138,000
Al 552,000
10 AL SXAIEEE2EH EX 690,000 0 690,000
OLIZtH S 0l E S ALA ML &bl
690,000,000 * 14l 690,000
< 138,000
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A

S P l E==n;

A= pEess =
M B SE-DNEN|
S B I ESEX-P CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| Al 552,000
el Ol ESAL BB Y 130,200 130,200 0
< 26,040
Al 104,160
307 gl2tol & 130,200 130,200 0
< 26,040
Al 104,160
10 ALl SXAIEEE2EH EX 130,200 0 130,200
OOZOIHBAR FEAL
130,200,000 * 14l 130,200
< 26,040
Al 104,160
R0 ESUAMN SEE82FY 196,920 196,920 0
< 39,384
Al 157,536
307 gl2tol & 196,920 196,920 0
< 39,384
Al 157,536
10 AL SXNAIEEE2EHEX 196,920 0 196,920
OZROHBSDAN S+
196,920,000& * 14 196,920
= 39,384
Al 157,536
ZOHOH HEIOIE ESLA = 13,200 22,800 A 9,600
= 2.640
Al 10,560
307 21201 A 13,200 22,800 A 9,600
< 2,640
Al 10,560
10 M2 SXNANEHE2IHEX 13,200 0 13,200
OZOHOtHE ol EFWAL =
13,200,000& * 14 13,200
< 2,640
Al 10,560
el Ol & CHAM A 1A Bl XI& 20,125 20,125 0
< 4,025
Al 16,100
307 21201 A 20,125 20,125 0
< 4,025
Al 16,100
10 M SXNANEHE2IHEX 20,125 0 20,125
OUEolE CHAM WAL 148l XI&
20,125,0008 * 14 20,125
< 4,025
Al 16,100
HASEE0ts HEold gst=dH=3 XA 38,620 38,620 0
< 7,724
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A= 22 =EX= M 6EFY
M B SE-DNEN|
S B I ESEX-P CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Al 30,896
307 glz2tol & 38,620 38,620 0
< 7,724
Al 30,896
10 ALSISXAIEEE 22X 38,620 0 38,620
ONMASEOS E0lE sEHIZ N
38,620,000& * 14l 38,620
< 7,724
Al 30,896
SSE0E0E HAR 128 X& 61,200 61,200 0
< 12,240
Al 48,960
307 glz2tol & 61,200 61,200 0
< 12,240
Al 48,960
10 AL SXAIEEE2EH EX 61,200 0 61,200
OZSE0E0lE HAR 212AH K&
61,200,000& * 14 61,200
= 12,240
Al 48,960
ZEAN SO0OSEXNAEH XA 75,000 75,000 0
= 15,000
Al 60,000
307 gl2tol & 75,000 75,000 0
< 15,000
Al 60,000
10 AL SXAIEEE2EHEX 75,000 0 75,000
OZEA SO XN2LEH K&
75,000,000& = 14! 75,000
< 15,000
Al 60,000
ESSE MU A(S AR 24H]) 5,693,234 5,654,870 38,364
= 2,846,617
< 853,985
Al 1,992,632
307 gl2tol & 5,693,234 5,654,870 38,364
= 2,846,617
< 853,985
Al 1,992,632
10 AL SXNAIEEE2EHEX 5,693,234 0 5,693,234
OUEO0IE SAA 1dd XI&
5,693,234,000& * 14 5,693,234
= 2,846,617
= 853,985
Al 1,992,632
oglold Jls2d XN& 94,000 116,216 A22,216
= 47,000
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K= SN H4IED

& =
2% =S
Helold2g X (=& J)
22N ZH-BR(EH) - MRAY - BY Ol &k 2 il H D = 2t
= 14,100
Al 32,900
402 QI2H X201 A 94,000 116,216 AN22,216
= 47,000
< 14,100
Al 32,900
01 BIZEAI 2 MY E X 94,000 116,216 N22,216
OMNE= 30,000,000& * 204 A& 60,000
= 30,000
= 9,000
Al 21,000
O&Hldl 2,000,000& * 24 4 4,000
= 2,000
= 600
Al 1,400
OZOHOIEEZ Of&lolE HE =
30,000,000& * 1JH 30,000
= 15,000
= 4,500
Al 10,500
el ol& RI& 1,125,156 974,702 150,454
= 562,578
< 168,773
Al 393,805
307 2Iztol ™ 1,125,156 974,702 150,454
= 562,578
< 168,773
Al 393,805
10 M SXNANEHI2IHE=X 1,125,156 0 1,125,156
O w4l 89,238,000& Al 89,238
= 44,619
= 13,386
Al 31,233
OXg2gtl (s E) 31,444,000 = 14 31,444
= 15,722
= 4,716
Al 11,006
OuWAI2FEZ LI 969,830,000& * 14 969,830
= 484,915
= 145,474
Al 339,441
OsHEAM el old XI&
34,644,0008 * 14 34,644
= 17,322
< 5,197
Al 12,125
22 ZUHEH 29 & 6,000 6,000 0
= 3,000
< 900
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x
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x
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0x
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Off &t 24

=
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2

2,100

= N W

6,000
3,000

900
2,100

6,000

6,000,000& * 14!

= Hn W

6,000

6,000
3,000

900
2,100

6,000

0K
0
og
=2}
m
o
™
pal
o

= M W

,050,000

525,000
157,500
367,500

1,183,920

A 133,920

307 21201 &

= M W

,050,000

525,000
167,500
367,500

1,183,920

A 133,920

10 AR SAAEHE2SHIEXR
0

1,050,000,000& = 14!

= N W

,050,000
,050,000

525,000
157,500
367,500

1,050,000

>
S
Z:‘_I
o
og!
H
1o
b
{0
A0
02
[=s

=z o W

107,156
53,578
16,073
37,505

107, 156

307 glztol &

= MW

107,156
53,578
16,073
37,505

107, 156

10 AFRIS XA EHE 23

s
107,156,000 = 14!

= HnH

107,156

107,156
53,578
16,073
37,505

107, 156

=z N H

40,000
20,000

6,000
14,000

40,000

=
N

r

402 212t X201 &

= N H

40,000
20,000

6,000
14,000

40,000

01 =AML E X

40,000

40,000
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A= PN HEEIY

AR BBEBE
M B EEEPNEE
Sl ORI0IE2SYN & (B9 ®R)
= - — SHE]|
MR 2N FB-BA(E) - MRAY - BAS 0l &k 24 e bl D=2t
OANZtHEYE BESXNA(JIsSEY)
20,000,000 * 20 A 40,000
2 20,000
< 6,000
Al 14,000
2= K& 29,772,127 31,507,110 A 1,734,983
2 13,771,958
< 10,806,751
Al 5,193,418
IRroEEE XN 16,060,584 16,917,230 A 856,646
= 10,439,380
< 1,686,361
Al 3,934,843
307 gl2tol & 16,060,584 16,917,230 A 856,646
= 10,439,380
< 1,686,361
Al 3,934,843
10 AL SXAIEEE2EH EX 16,060,584 0 16,060,584
deoEss N 16,060,584,000& * 14 16,060,584
= 10,439,380
< 1,686,361
Al 3,934,843
ItEs2 X 5,127,043 6,002, 195 AB75,152
= 3,332,578
< 538,340
Al 1,256,125
301 L2 A Z 5,127,043 6,002, 195 AB75,152
= 3,332,578
< 538,340
Al 1,256,125
01 MEIBEE 2063 5,127,043 6,002, 195 AB75,152
oijgg=s=4g A& 5,127,043,000& * 14 5,127,043
= 3,332,578
< 538,340
Al 1,256,125
ey B KA 8,577,500 8,577,685 A 185
< 8,577,500
307 21201 A 8,577,500 8,577,685 A 185
= 8,577,500
10 M2 SXNANEHE2IHEX 8,577,500 0 8,577,500
OFctd 282 K& 8,577,500,000& 8,577,500
< 8,577,500
HIEOHOH s E|€=2 7,000 10,000 A 3,000
< 4,550
Al 2,450
307 glz2tol & 7,000 10,000 23,000
< 4,550
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A= HBI2SEX= = R~ ) ==
HH: 8- HH=XEA
o9l SR (e9: & 9)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
Al 2,450
10 MM SAANEEHESIGHEX 7,000 0 7,000
OdlEOMOF &= B2 7,000,000& = 14 7,000
= 4,550
Al 2,450
Chestits X 559,070 509,079 49,991
J| 289,989
= 17,121
Al 251,960
Ct2sotd XI& 77,800 64,660 13, 140
201 et 2,800 1,660 1,140
01 AP 2t 2] H| 2,800 1,660 1,140
Ogt4L2H| 1,000
oIS IIEXNJANH HANAEH SI| =4
= 1,000,000& * 14! 1,000
OfIg =l 400
o223 ns ZAxE
200,000& * 23] ~ 1& 400
O 1,400
o[IZ3IEXNIES 3o
70,000& * 10¥9 = 23| 1,400
301 et A= 27,000 27,000 0
01 Al E& A£G 5,000 5,000 0
OWAEZE0|0X AEIIE FHI)sWS
1,000,000& * 59 5,000
06 212to1 =22 (4 bl 20,000 20,000 0
OZE&0|2A 2=EEXE
20,000,000& * 14! 20,000
09 HAIAHI EAZ 2,000 2,000 0
OHMAHCRIS Y A &I} 2,000,000& = 14! 2,000
307 2izto| A 48,000 36,000 12,000
01 s R=dl 5,000 5,000 0
OWHZE0|2X AUAHA 200,000& * 259 5,000
11 A EXAIEEX 43,000 31,000 12,000
OZE0|2A Rl 29
5,000,000& = 14 5,000
Odl&s o2l g&2e X
8,000,000&¢ = 14! 8,000
OHM93l CIEsItE & 0IY HAEY
10,000,000 = 14! 10,000
OU2sAE oHelol 23t E s
3,000,000 = 14! 3,000
OU=s Hgns 2949 5,000,000& = 1A 5,000
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AT BBRBHSN= SN OIS D
HH: 8- HH=XEA
& UR3IIEs N (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
Q2018 H=2T Ul CI23t 9 XSS AR
kM 10,000,000& * 14 10,000
OHM62l CHE3ItE &iots M=l
2,000,000& = 14! 2,000
CEst=EXddg2d 284,060 320,750 A 36,690
J| 187,810
= 7,082
Al 89,168
307 2Iz2to| A 284,060 320,750 A 36,690
J| 187,810
= 7,082
Al 89,168
10 M SXAEEHESIGHEX 284,060 0 284,060
OUSSIEXN]ANH 24
268,300,000 = 14 268,300
J| 187,810
o=t 7,082
Al 73,408
OURIN=EXNKHLME 2H(AHIFIH
15,760,000 = 14 15,760
Z2E20/0XIE OI2AME 29 X 4,000 4,000 0
c 800
Al 3,200
307 212t0| & 4,000 4,000 0
o 800
Al 3,200
11 A EXAIEEX 4,000 4,000 0
ASO0|CRIE O|2RAIE HHEXH
4.,000,000& = 14 4,000
o 800
Al 3,200
2SIt X JdHEL X3 AE A 58,912 53,757 5,155
Jl 41,239
o 3,536
Al 14,137
307 S12t0| & 58,912 53,757 5,155
J| 41,239
o=} 3,536
Al 14,137
11 A EXAIEE X 58,912 53,757 5,155
OUSSIEXE AL XS MaPlA
58,912,000& * 14! 58,912
Jl 41,239
== 3,536
Al 14,137
CI23tE sHIAMHIAXE 48,546 47,670 876
J| 33,982
= 2,913

- 132 -




AT BBRBHSN= SN OIS D
HH: 8- HH=XEA
Sl 23S X (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlDE2
Al 11,651
307 glz2tol & 48,546 47,670 876
J| 33,982
< 2,913
Al 11,651
11T M SXASEEX 48,546 47,670 876
OU=RINEFSHAMH A K&
48,546,000& » 14! 48,546
J| 33,982
= 2,913
Al 11,651
CENEXNLEH JIsES 40,000 0 40,000
402 RI2FX=01 M 40,000 0 40,000
01 B2t AL E X 40,000 0 40,000
OU=aINEXNZHAH JIs22
40,000,000& = 14! 40,000
ChE NSRS AMY 2F 3l 2,400 2,000 400
202 Odl 2,400 2,000 400
01 = LH 4 Hi 2,400 2,000 400
OU=2aINEXNAY S2FX 044l
20,0003 = 2% = 603l 2,400
0l50l JIE8E ZdAMY 23 16,250 16,242 8
J| 11,375
< 975
Al 3,900
307 21201 A 16,250 16,242 8
J| 11,375
< 975
Al 3,900
11T ALSI S XA E = 16,250 16,242 8
O0Is20 =8 gAY 29
16,250,000& * 14 16,250
J| 11,375
< 975
Al 3,900
SHE0uE 2IAY 22,262 0 22,262
J| 15,583
Al 6,679
307 21201 A 22,262 0 22,262
J| 15,583
Al 6,679
11T AL SXAEE = 22,262 0 22,262
Ost=0ns 2AY 22,262,0008 * 14 22,262
J| 15,583
Al 6,679

- 133 -




A= HBI2SEX= = R~ ) ==
=R R S S
& UR3IIEs N (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
ChESIIE 220Y%sSs Id4AD] X 4,840 0 4,840
== 1,815
Al 3,025
402 BI2H X 20| M 4,840 0 4,840
o= 1,815
Al 3,025
02 I 2HCH & AL HI 4,840 0 4,840
OUERFINE 220eds A-d44D] &X
484 ,000& * 1000 £ 4,840
& 1,815
Al 3,025
FAHS OISES 7,167,526 7,157,635 9,891
= 1,516,296
= 829,465
Al 4,821,765
OlsEXANd29 X3 4,058,714 4,033,638 25,076
= 812,200
o 228,870
Al 3,017,644
XNG0lSHE L OISAIE2Y 125,000 121,000 4,000
307 212t0| ™ 45,000 45,000 0
01 2l 2¥d32=H| 10,000 10,000 0
OOtsSE2XAIE OS2 E MY
10,000,000 = 14! 10,000
11 A EXAIEEX 35,000 35,000 0
OX<E0tsHdyH 2sx20d 29X
15,000,000& = 14! 15,000
OOs=2XAIE SAX 280 L 25
X& 20,000,000& * 14! 20,000
402 SI2vXHE0| ™ 80,000 76,000 4,000
01 QAN SAIE E =X 80,000 76,000 4,000
OXG0tsSHH SFMNL(BAIAZ) X
50,000,000 * 1JH 2 50,000
OXE0otsHH JIs2d
3,000,000& = 100 £ 30,000
OlsAE2d 1,670,000 1,670,000 0
307 QI2t0| ™ 1,670,000 1,670,000 0
10 MM SAANEEHESIGHEX 1,670,000 0 1,670,000
OotsAeE2d 1,670,000,000& = {14! 1,670,000
lerd|et 29 18,000 18,000 0
307 2I2t0| ™ 18,000 18,000 0
10 AISIEXAIEEHE2IHIEX 18,000 0 18,000
Oogaa 29 1,500,000& * 12& 18,000
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M 6EFY

NAE2L XA (=& J)
R.RA-ZE-G(HH) - HRAY - BES il H D = 2t
NEotsdEH2 S K& 1,476,048 1,506, 356 A 30,308
2 618,024
< 123,605
Al 734,419
307 2Iztol ™ 1,476,048 1,506,356 A 30,308
2 618,024
< 123,605
Al 734,419
10 M3 SXNANEHI2IHES 1,476,048 0 1,476,048
OXHOISHE =2
92,744 ,000& * 12& 1,112,928
= 556,464
< 111,293
Al 445,171
OHH S+SHE NAOSHE X2
52,920,000& = 14| 52,920
= 26,460
< 5,292
Al 21,168
OXNHOISHE EQ2ENa
450,000& *» 130HA » 128 70,200
= 35,100
= 7,020
Al 28,080
OXHOISME 2K (AIHIFIH)
1,000,000 * 2004 = 128 240,000
ES0tsdE8Es 132,639 132,639 0
2 53,056
< 15,917
Al 63,666
307 2Iztol ™ 132,639 132,639 0
2 53,056
== 15,917
Al 63,666
10 M3 SXNANEHI2IHE=X 132,639 0 132,639
OREs0ts 188 B3
132,639,000& * 14| 132,639
= 53,056
< 15,917
Al 63,666
S=XRAH(QAAY) X 282,240 274,176 8,064
= 141,120
< 28,224
Al 112,896
101 14 dl 280,240 272,176 8,064
= 140,120
< 28,024
Al 112,096
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AR PFRA=X= SN EIIED
Ha: FHUNE 052
el OIS =XAILSE X & CERED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
04 JIZHHZ2XREES 280,240 272,176 8,064
Oglztorsd ol 280,240,000 = 14 280,240
= 140,120
< 28,024
Al 112,096
202 odl 2,000 2,000 0
= 1,000
< 200
Al 800
01 = LH o4 1l 2,000 2,000 0
oglztoled g2+ 2,000,000 * 14l 2,000
= 1,000
= 200
Al 800
OlSSXWA(RH2S0) o124l X 11,667 11,667 0
< 3,500
Al 8,167
307 glz2tol & 11,667 11,667 0
< 3,500
Al 8,167
11T AISI S XA E = 11,667 11,667 0
OOtSEXLAH(R L) bl
11,667,000& * 14 11,667
< 3,500
Al 8,167
Otsz4al JIs:eE2d 7,000 7,000 0
402 RI2EX20| ™ 7,000 7,000 0
01 B2t AL E X 7,000 7,000 0
Oots=4 JIs2Z 7,000,000& * 14! 7,000
AotsdH SAE<0 XN& 48,000 60,000 A 12,000
307 glz2tol & 48,000 60,000 A 12,000
11T M ZSRAISE E 48,000 60,000 A 12,000
OSAE=20 W X3 X
400,000& *» 200 » 63 48,000
ASISXIAIE BAR X< (0tS=X) 141,840 134,280 7,560
< 28,368
Al 113,472
307 glz2tol & 141,840 134,280 7,560
< 28,368
Al 113,472
10 AL SXNAIEEE2EH EX 141,840 0 141,840
OMIBIESXAEEMA EX=Z(0tS=X)
141,840,000& * 14 141,840
= 28,368
Al 113,472
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AT BBRRHSNR SN OIS D
Ha: FHUNE 052
e OtSSEXANE2I XA (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
NEotsdH 2SR (=) 116,280 98,520 17,760
< 23,256
Al 93,024
307 gl2tol & 116,280 98,520 17,760
< 23,256
Al 93,024
10 AL SXNAIEEE2EH EX 116,280 0 116,280
OXgotsdEH 2G XA  116,280,000& * 1Al 116,280
< 23,256
Al 93,024
NSotsdH 2 AELR0IXAA (=) 30,000 0 30,000
< 6,000
Al 24,000
307 glz2+0l & 30,000 0 30,000
< 6,000
Al 24,000
11T MISRASEX 30,000 0 30,000
OXdotsdEe SAER0X&
30,000,000& = 14l 30,000
< 6,000
Al 24,000
HAANSOIs=EXNXZ 495,450 457,260 38,190
= 240,000
< 73,410
Al 182,040
RLESOtsXI& 5,400 5,400 0
301 et d s 1,000 1,000 0
01 MEIE2EZE 45z 1,000 1,000 0
OREs0ts AW 1,000,000 = 14l 1,000
307 21201 A 4,400 4,400 0
01 922724l 4,400 4,400 0
ORES0=s 2 =8l 200,0008  1F * 128 2,400
ORESOts I =Hl 20,000& = 509 = 23] 2,000
EAOISTHEEES 8,000 8,000 0
301 et d =S 8,000 8,000 0
01 MEI2EZE 06z 8,000 8,000 0
OfA0tE NHEEES 1,000,000& = 8% 8,000
ES0ts s XA 24,600 20,160 4,440
< 4,920
Al 19,680
301 et a =z 24,600 20,160 4,440
< 4,920
Al 19,680
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A= HBI2SEX= = R~ ) ==
Ha: FHUNE 052
Sl FHANSOS XX CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
01 Al E & A 452 24,600 20,160 4,440
OBS0lE sgEigd X&
24,600,000 * 14! 24,600
& 4,920
Al 19,680
B30l eggs=2 I 50,000 32,500 17,500
= 10,000
Al 40,000
301 Bt A= 50,000 32,500 17,500
= 10,000
Al 40,000
01 Al E & A 462 50,000 32,500 17,500
OBS0tE tergst=2 &
2,500,000& » 209™ 50,000
& 10,000
Al 40,000
B30tls s=&0aiy XA 9,450 5,200 4,250
o 1,890
Al 7,560
301 LBt A= 9,450 5,200 4,250
o 1,890
Al 7,560
01 AISIE & A 452 9,450 5,200 4,250
OBS0ts st a&idl K&
9,450,000& = 14 9,450
= 1,890
Al 7,560
B30s FAHUEXN=Z XN 36,000 30,000 6,000
& 7,200
Al 28,800
301 LBt A= 36,000 30,000 6,000
o= 7,200
Al 28,800
01 AISIE&E A %52 36,000 30,000 6,000
OBS0ts =HHAE 2 X2
3,000,000& = 129 36,000
= 7,200
Al 28,800
BES0ls HstdsEotd = K& 58,000 50,000 8,000
o 17,400
Al 40,600
301 et A= 58,000 50,000 8,000
= 17,400
Al 40,600
01 A& A 2523 58,000 50,000 8,000
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M ox
40 5 4

23=sI= SN H4IED

- _ — d =
M- E8-89(8) - HEAY - BYS Ol &t o e
OEsots etdatdEa N
58,000,000 * 14l 58,000
= 17,400
Al 40,600
300,000 ,000
= 240,000
< 30,000
Al 30,000
EtE A= 300,000 ,000
=2 240,000
< 30,000
Al 30,000
01 MEI2ZE 05z 300,000 ,000
OdH = 300,000,000& * 14 300,000
= 240,000
< 30,000
Al 30,000
ot= 4,000 ,000
< 2,000
Al 2,000
ALE A S 4,000 ,000
< 2,000
Al 2,000
01 MEIBEE 263 4,000 ,000
Ogd=sdt=a 4,000,000& = 14 4,000
< 2,000
Al 2,000
oM & 2elsd 1,726,740 900
= 513,120
Al 1,213,620
AR OlSES KE 43,540 ,540
2 Et2 H Y| 6,660 ,660
AtS 2tel ] 5,460 5,460
ozg=+¢ 5,460
cOtsAA3 =l 70,0003 * 269 33| 5,460
A2 H I 1,200 ,200
Oogolg J1gal 1,200,000& * 14l 1,200
LEtE A= 11,880 ,880
HALAHI B &= 11,880 ,880
ONgold 8=t HAEIIL 24
1,200,000 * 14 1,200
OXgotsdH F3s & U3l Fot
1,500,000& * 24l 3,000
Oots=4a X&0l &30l
20,000& = 32Y% = 123 7,680
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AT BBRRHSNR SN OIS D
Ha: FHUNE 052
Sl OtSel 94X L AR CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
307 glz2tol & 25,000 25,000 0
11T M SRASEEX 25,000 25,000 0
Ongold A= 25,000,000 = 14l 25,000
ZAts=4A X& 710,000 710,000 0
307 eIzl & 710,000 710,000 0
11T MISXAS EX 710,000 710,000 0
Ozaots=4 N&E 710,000,000 = 14 710,000
g4ets ots=4 561,000 595,000 234,000
= 112,200
Al 448,800
307 21201 A 561,000 595,000 A 34,000
< 112,200
Al 448,800
11T M3 SXAISEEX 561,000 595,000 A 34,000
OogstE ots=4 4,000& * 1,650% = 852 561,000
< 112,200
Al 448,800
Z2A0ts ZAIEEHE |RFH 9,600 9,600 0
< 1,920
Al 7,680
307 gl2tol & 9,600 9,600 0
= 1,920
Al 7,680
11T M SXALSE EX 9,600 9,600 0
OZA0tE TAIE BHE |RFHI
80,000& = 12¥ = 103 9,600
< 1,920
Al 7,680
sl £-¢-325¢ Ots=4 399,000 399,760 AT60
< 399,000
307 21201 A 399,000 399,760 AT60
< 399,000
11 ALS S XAEE = 399,000 399,760 AT60
OIIZE E- Y- BEY 0tSZA
4,000 * 1,050% = 95¢ 399,000
< 399,000
Ots2 otd U AHeSTAMY 222 Hl 3,600 2,000 1,600
202 04 Hl 3,600 2,000 1,600
01 SLHOIYI 3,600 2,000 1,600
OO0tsEX ZLFA ol
20,000% = 3% * 602 3,600
LES0ts IHEAEX R 461,622 481,837 220,215
= 164,096
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AT BBRRHSNR SN OIS D
Ha: FHUNE 052
S RES0tS IEAS & CERED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
< 14,065
Al 283,461
IHERE d=EXH 220,000 250,000 A 30,000
301 gt d= 220,000 250,000 230,000
01 MEI2EZE 05z 220,000 250,000 A 30,000
OJNEAEL XA 220,000,000 * 14 220,000
2@ A JHEXA 7,200 8,640 21,440
301 L2 A S 7,200 8,640 A 1,440
01 MEIBEE 2063 7,200 8,640 A 1,440
OENSENEW/ FSEPNEE] 7,200,000& = 14! 7,200
IHERIE XA, 294 11,705 11,705 0
= 8,194
= 702
Al 2,809
307 21201 A 11,705 11,705 0
= 8,194
< 702
Al 2,809
11T A SXAIEE = 11,705 11,705 0
OJNEAEHS g2 =X &
8,905,000& = 14! 8,905
= 6,234
< 534
Al 2,137
O IHERAEOs delxlzd X
1,400,000 = 29H 2,800
= 1,960
< 168
Al 672
Ots ZEXIJAH XX 125,537 120,000 5,537
= 87,876
< 7,532
Al 30,129
301 et A3z 125,537 120,000 5,537
= 87,876
< 7,532
Al 30,129
01 MEIBEE 263 125,537 120,000 5,537
OOt XA K&  125,537,000& * 14 125,537
= 87,876
< 7,532
Al 30,129
QA0ts IIEXNA 97,180 91,492 5,688
= 68,026
= 5,831
Al 23,323
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4= s=x= M 0EIIED
SRS g ts2Es
el 50tS JHHAT R
2 RA - ZH-BR(EN) - HREAY - BYS il
et A= 97,180 91,492
= 68,026
< 5,831
Al 23,323
01 MEI2EZE %06z 97,180 91,492
OYgoEYsLL X
150,000& = 41 » 12&8 73,800
= 51,660
[ 4,428
Al 17,712
Ogddl XA 3,300,000 = 14 3,300
- 2,310
< 198
Al 792
OFMOIE YLURHED
18,680,000 * 14 18,680
= 13,076
= 1,121
Al 4,483
Ogg=egdiz2t 2XXA 1,400,000& * 14l 1,400
= 980
& 84
Al 336
FEALS 425,000 425,000
- 300,000
Al 125,000
SMHIA(SEAEIEANY) 425,000 425,000
— 300,000
Al 125,000
ol dl 163,000 196,000
— 130,000
Al 33,000
04 JIZHHZ2XREE S 163,000 196,000
Oolztelad oIt 120,000,0008 * 14! 120,000
= 120,000
Oglz2torsd Al2te| = 10,000,000& * 14 10,000
= 10,000
Oolzroled oI A Y (AIHIFO)
18,000,000 * 14 18,000
OXtES &I AP 21 A4d] (AlBI =)
15,000,000 * 14 15,000
2 et A | 103,000 96,000
= 75,000
Al 28,000
01 At 22l 59,000 58,000
Oget==EH| 25,000
SNPRBE Y ATHSERY
6,000,000& * 14! 6,000




AT BBRRHSNR SN OEIED
SRS AHE HSES
CHelr CEABEAY CER-ED
SN B CH(HN) - MM - BES 0l &t o il HDEZ
= 6,000
cZZH2YE M7
10,000,000& = 14l 10,000
= 10,000
cEE2MHE 3,000,000 = 14l 3,000
= 3,000
o A A X &2t 5,000,000& * 14! 5,000
2 5,000
o MAAIAE SX2eldl  1,000,000& * 14 1,000
= 1,000
Ogxz 18,000
o Xt X= (AIHIZ=IH)  18,000,0008 * 14 18,000
OfI&u=H| 3,000
o= FItH| 3,000,000 = 14l 3,000
= 3,000
o2g+g 12,000
o359 FHAE 2,000,000 = 14l 2,000
= 2,000
cXZ Y 2AZE 10,000,000& * 14 10,000
= 10,000
O= &l 1,000
ol|lZ2HRA;S A 1,000,000& = 14! 1,000
= 1,000
02 =24l 11,000 10,000 1,000
OxgsFd & AIdKxX 22l
6,000,000& * 14 6,000
= 6,000
Os32= 5,000,000& * 14! 5,000
= 5,000
03 & AL2 Z I 33,000 28,000 5,000
OEEHAERE &AL 2Y 23,000,000& = 14 23,000
= 23,000
OCSHAEE &AL 2L (AHIFI})
10,000,000& * 14 10,000
202 044l 15,000 14,000 1,000
= 15,000
01 S LHOIYI 15,000 14,000 1,000
OJlegesd 6,000,000& * 14! 6,000
= 6,000
Oglztorsl J el 7,000,000& * 14! 7,000
= 7,000
Ou=s0tl 2,000,000 = 14 2,000
= 2,000
301 ger2d=s 1,000 24,000 A23,000
= 1,000
09 AL HI BN = 1,000 1,000 0

- 143 -




AT BBRRHSNR SN OIS D
Ha: FHUNE 052
thel: SEAEIEAMY (=& J)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
Oouns s A 24 1,000,000& * 14l 1,000
= 1,000
307 21201 A 141,000 86,000 55,000
= 77,000
Al 64,000
11T MISAASEX 141,000 85,000 56,000
ostsXl K& 24,000,000& * 14 24,000
= 24,000
OZzy 22l 53,000,000 * 14l 53,000
= 53,000
OZ=21d 2%t (AIHIFIt)
64,000,000& * 14 64,000
405 RHoHE S HI 2,000 2,000 0
= 2,000
01 et EZFHSHI 2,000 2,000 0
OZ2Od2F HHl+< 2,000,000& * 14 2,000
= 2,000
29ZH(H&Its) 30,795 34,700 A 3,905
=223y 30,795 34,700 ~3,905
Jl2&l 30,795 34,700 A 3,905
201 Ler2 | 18,520 17,500 1,020
01 AR 22/t 18,520 17,500 1,020
SHEIRS=Y] 9,700
SIIZHIMNREES E 224 57
8,000,000& = 14 8,000
oclbtxz 50,000& = 12& 600
oAl EAFA 800,000& = 14 800
o2 =&Y 300,000& * 14 300
O=2gl 8,820
oll=gRsd g4l
7,000% * 20F * 633 8,820
202 odl 8,075 8,000 75
01 S OHI 8,075 8,000 75
OJl2g=2=a8 ol 85,000& = 19¥ =« 53| 8,075
203 PR =&l 4,200 4,200 0
04 EN2I LRI 4,200 4,200 0
ORN2IYRFA 350,000& = 12& 4,200
SES(04II5 ) 200,000 200,000 0
HEAHHK = 200,000 200,000 0
JISNES 200,000 200,000 0
702012 8E3 200,000 200,000 0
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